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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Ans X' 1. 512
X 2 480
'3 488
X 4 536
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Status :
Chosen Option : --

Question ID : 691352624

Option 11D : 6913522494
Option 2 ID : 6913522493
Option 3 1D : 6913522496
Option 4 ID : 6913522495
Not Attempted and Marked For Review

Ans  of 1. Poland

Q2 Tn which country is Btedow Desert located?

Ans

X 2 Iceland

#< 3. New Zealand

X 4 Greenland
Question ID : 691352697
Option 11D : 6913522785
Option 2 ID : 6913522786
Option 31D : 6913522788
Option 4 1D : 6913522787

Status : Not Answered
Chosen Option : --
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Question ID : 691352680
Option 11D : 6913522717
Option 2 ID : 6913522719
Option 3 1D : 6913522720
Option 4 ID : 6913522718
Status : Answered
Chosen Option : 4
Q4 AT AT T4 :
Ans x 1. LEMET—Z
v 2 | ImOT2
x 3. L‘EMiTE
x 4. L'EM{}-E-Z
Question ID : 691352672
Option 11D : 6913522685
Option 2 ID : 6913522687
Option 31D : 6913522688
Option 4 ID : 6913522686
Status : Answered
Chosen Option : 2
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Question ID : 691352656
Option 11D : 6913522622
Option 2 ID : 6913522624
Option 3 ID : 6913522621
Option 4 1D : 6913522623
Status : Answered

Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352690
6913522759
6913522757
6913522760
6913522758
Not Answered
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Question ID : 691352699

Option 11D :
Option 21D :
Option 31D :

6913522793
6913522795
6913522794

Option 4 ID : 6913522796
Status : Not Answered
Chosen Option : --

Q.8 3ft 2 & 7% A1 3 I WEAT 30 FoEE AT AFC FH W FA© WA, @EE 6 I JET AT 1 5
AT FEG O FAG Fe0d T (@E?

Ans x14.[’.':ﬁ_
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X3 g fus
X 45 fug

Question ID : 691352613

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913522450
6913522449
6913522452
6913522451
Answered

Chosen Option : 2
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Ans of 1.8 m
K24 m
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X 480 m

Question ID : 691352669
Option 11D : 6913522675
Option 2 ID : 6913522676




Option 31D :
Option 41D :
Status :

Chosen Option :

6913522674
6913522673
Not Attempted and Marked For Review
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Question ID : 691352622
Option 11D : 6913522486
Option 2 ID : 6913522487
Option 31D : 6913522485
Option 4 ID : 6913522488
Status : Answered

Chosen Option : 1
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"X 1 9x 108
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X 410 x 1083
Question ID : 691352660
Option 11D : 6913522638
Option 2 ID : 6913522637
Option 3 ID : 6913522639
Option 4 ID : 6913522640
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 691352645
Option 1 ID : 6913522577
Option 2 ID : 6913522579
Option 31D : 6913522580
Option 4 ID : 6913522578
Status : Not Attempted and Marked For Review
Chosen Option : --
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X423

Question ID : 691352636
Option 11D : 6913522543
Option 2 ID : 6913522544
Option 3 ID : 6913522541
Option 4 ID : 6913522542
Status : Answered
Chosen Option: 1

QT Aew (S (N @ TSR awsy?

e fAwen oF IHI@E T& FEAT OEe, “SIf ar F4k g (EFF @@ @e)”
ST

I % =@ A"

Il. 39 orF 919" IrE o Ted ATE
Ans 1. BEHA Sl 11 TS




X 2 THNT N | AEOT
A3 A1 (FEER AR 2 Al
v 4 8 || eI TS

Question ID : 691352634
Option 11D : 6913522534
Option 2 ID : 6913522533
Option 3 ID : 6913522535
Option 4 ID : 6913522536
Status : Answered
Chosen Option : 4
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Question ID : 691352665
Option 11D : 6913522659
Option 2 ID : 6913522657
Option 31D : 6913522658
Option 4 ID : 6913522660
Status : Answered

Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

691352633

6913522531
6913522530
6913522529
6913522532




Status : Answered
Chosen Option : 1
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Ans x1~A

X2C

X3 B

v 4D

Question ID : 691352647
Option 11D : 6913522585
Option 2 ID : 6913522587
Option 31D : 6913522586
Option 4 ID : 6913522588
Status : Answered
Chosen Option : 4
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Question ID : 691352627
Option 1 ID : 6913522507
Option 2 ID : 6913522506
Option 3 ID : 6913522505
Option 4 ID : 6913522508
Status : Answered
Chosen Option : 4
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Question ID : 691352695

Option 11D : 6913522780
Option 2 ID : 6913522777
Option 31D : 6913522778




Option 4 ID : 6913522779
Status : Not Answered
Chosen Option : --
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Ans X 1. 1.5n cm?
A 2 1.751 cm?
v 3 1.5625m cm?
A 4 1.251 cm?

Question ID : 691352618
Option 11D : 6913522472
Option 2 ID : 6913522469
Option 31D : 6913522471
Option 4 ID : 6913522470
Status : Not Answered
Chosen Option : --

Q.2 avs fagfel o ore =9 fgfs ot @@ SERofT Ty

e

A SIEE] Ao A9 B Sred SPET &)

ST

I, SIS A0S ST FE] AW TANA oS (T BEE (efd FE (Fg O G ST o6 19 A 6 T
(& T

Il ©e STeTels 26 77|

Ans  of 1 THNIT Il TATSY T
X 21 8| SBIR AESY 4|

K3 T 1l (FEER AR 24 Al
X 4 THEE | AR |

Question ID : 691352635
Option 11D : 6913522538
Option 2 ID : 6913522540
Option 31D : 6913522539
Option 4 ID : 6913522537
Status : Answered
Chosen Option: 3
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Question ID : 691352632
Option 11D : 6913522526
Option 2 ID : 6913522525
Option 31D : 6913522528
Option 4 ID : 6913522527
Status : Not Answered
Chosen Option : --
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Question ID : 691352684
Option 11D : 6913522733
Option 2 ID : 6913522736
Option 31D : 6913522734
Option 4 ID : 6913522735
Status : Not Answered
Chosen Option : --

042 Which of the answer figures is formed from the two shapes given the problem figure?

Problem Figure:

Answer Figure:

A B C 4]

[ DO | &

ans X 1D
X2cC
Vs A
X4 B

Question ID : 691352653




Option 11D : 6913522612
Option 21D : 6913522611
Option 3 ID : 6913522609
Option 4 ID : 6913522610
Status : Answered
Chosen Option : 3
Q.2
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Ans
X aw 12 & s 3 6 & 08T =i
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X4 aw 12 o 88 8 6 & 3EsEa o=l
Question ID : 691352667
Option 11D : 6913522667
Option 2 ID : 6913522665
Option 31D : 6913522666
Option 4 ID : 6913522668
Status : Answered
Chosen Option : 3
Q.2
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Ans X1 TS
v 2 afer
X3 5F
X 4 g
Question ID : 691352657
Option 11D : 6913522628
Option 2 ID : 6913522625
Option 3 1D : 6913522627
Option 4 ID : 6913522626
Status : Answered
Chosen Option: 2
Q2 WAy @y 5,8,2,6,9,15,12,18, IF T, (SRGHHAT) AT FF T4
Ans 1§75
2. 0.725
3. 1.375
4. 1.125
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352625
Option 11D : 6913522499
Option 2 ID : 6913522497
Option 3 1D : 6913522500
Option 4 ID : 6913522498




Chosen Option :

Status : Not Answered
Chosen Option : --
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Ans x
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Question ID : 691352679
Option 1 ID : 6913522715
Option 2 ID : 6913522716
Option 3 ID : 6913522714
Option 4 ID : 6913522713
Status : Answered
Chosen Option : 1
Q.2
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Question ID : 691352689
Option 1 ID : 6913522755
Option 2 ID : 6913522753
Option 3 ID : 6913522756
Option 4 ID : 6913522754
Status : Not Answered
Chosen Option : --
Q.3
o WEffTFa: {1.1 x 0.1 x 0.01}=?
Ans of 1. 0.0011
X2 0.1
< 3. 0.011
X411
Question ID : 691352602
Option 11D : 6913522407
Option 2 ID : 6913522405
Option 31D : 6913522406
Option 4 ID : 6913522408
Status : Answered
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Question ID : 691352616
Option 11D : 6913522461
Option 2 ID : 6913522462
Option 31D : 6913522464
Option 4 ID : 6913522463
Status : Answered

Chosen Option : 4

2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352611

6913522444

6913522442

6913522443

6913522441

Not Attempted and Marked For Review
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Question ID : 691352601
Option 11D : 6913522404
Option 2 ID : 6913522402
Option 3 1D : 6913522401
Option 4 ID : 6913522403
Status : Answered
Chosen Option : 2
Q.3
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Question ID : 691352668
Option 11D : 6913522670
Option 2 ID : 6913522669
Option 3 ID : 6913522671
Option 4 ID : 6913522672
Status : Answered
Chosen Option : 2
Q3
5
Ans “ 1.
X2
X s
X a
Question ID : 691352666
Option 11D : 6913522663
Option 2 ID : 6913522661
Option 3 ID : 6913522662
Option 4 ID : 6913522664
Status : Answered
Chosen Option : 1
Q3
6
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&
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Question ID : 691352649
Option 11D : 6913522593
Option 2 ID : 6913522594
Option 3 ID : 6913522596
Option 4 ID : 6913522595
Status : Not Attempted and Marked For Review
Chosen Option : --
Q3
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Question ID : 691352682

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913522725
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Answered




Chosen Option : 3
Q3
8
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&
X a
Question ID : 691352630
Option 11D : 6913522518
Option 2 ID : 6913522519
Option 31D : 6913522517
Option 4 ID : 6913522520
Status : Answered
Chosen Option : 3
Q.3
9
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X s
v
Question ID : 691352651
Option 11D : 6913522603
Option 2 ID : 6913522601
Option 3 ID : 6913522604
Option 4 ID : 6913522602
Status : Answered
Chosen Option : 4
Q4
0
Ans x 1.
X2
&
X a
Question ID : 691352688
Option 1 ID : 6913522751
Option 2 ID : 6913522752
Option 31D : 6913522750
Option 4 ID : 6913522749
Status : Not Answered
Chosen Option : --
Q4
1
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Question ID : 691352698
Option 11D : 6913522791
Option 2 ID : 6913522792
Option 31D : 6913522790
Option 4 ID : 6913522789
Status : Not Answered

Chosen Option : --

Q.4
2
Ans x 1.
X2
&
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Question ID : 691352615
Option 1 ID : 6913522459
Option 2 ID : 6913522457
Option 3 ID : 6913522458
Option 4 ID : 6913522460
Status : Not Attempted and Marked For Review
Chosen Option : --
Q.4
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

1 691352608

1 6913522431

1 6913522430

1 6913522432

: 6913522429

: Not Attempted and Marked For Review

Ans X 1T

v 2 /6084
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X 4 /7652
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Question ID : 691352603

Option 1 1D : 6913522411
Option 2 ID : 6913522410
Option 3 ID : 6913522409
Option 4 ID : 6913522412




Status : Answered
Chosen Option: 2
%4 Find the odd one out:
A B C D
Li2 N14 P17 RI18
Ans ( 1. C
X2 A
X3 B
X 4D
Question ID : 691352648
Option 11D : 6913522591
Option 2 1D : 6913522589
Option 31D : 6913522590
Option 4 ID : 6913522592
Status : Answered
Chosen Option : 1
4 2018 WEE o FESUR SR (@ GMTT SIS TEHE AR FEA?
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v 4 =TS FThRY
Question ID : 691352683
Option 1 ID : 6913522730
Option 2 ID : 6913522729
Option 3 ID : 6913522731
Option 4 ID : 6913522732
Status : Not Answered
Chosen Option : --
Q.4
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Ans X1.3
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X3 4
VN
Question ID : 691352604
Option 1 ID : 6913522415
Option 2 ID : 6913522414
Option 31D : 6913522416
Option 4 ID : 6913522413
Status : Not Attempted and Marked For Review




l Chosen Option : --

Q.4 Read the given statement(s) and conclusions carefully and select which of the conclusions is correct.
8

Statement:
e Some pants are dark

e All dark are coats

Conclusions:
1. Some pants are coats

2. All coats are pants
Ans o 1. Only conclusion 1 is correct.

/< 2. Both conclusions are correct.
/< 3. Only conclusion 2 is correct.

/< 4 Both conclusions are incorrect.

Question ID : 691352628
Option 11D : 6913522511
Option 2 ID : 6913522510
Option 31D : 6913522509
Option 4 ID : 6913522512
Status : Answered
Chosen Option : 1

Q.4 A fragment of DNA providing complete information of one protein is referred to as
9

Ans X 1. Chromosome
< 2. Nucleolus

v 3 Gene

/X 4 Nucleus

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352676
6913522701
6913522703
6913522704
6913522702
Answered
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Question ID : 691352681




Chosen Option :

Option 11D : 6913522723
Option 2 ID : 6913522722
Option 3 ID : 6913522724
Option 4 ID : 6913522721
Status : Not Answered
Chosen Option : --
Q.5
1
Ans x 1.
X 2. APADA HMT
X 3 Bad AWT
4 S AW
Question ID : 691352692
Option 11D : 6913522766
Option 2 ID : 6913522767
Option 31D : 6913522765
Option 4 ID : 6913522768
Status : Not Answered
Chosen Option : --
Qé5 2017 SEA ST STFeA SASIS (GFRAT ARy (FF (NG TAFHGNE 5 FEf s ?
s XK. T SESGOE BIERS 6
v 2 TR e BNEEs W6
X3 T AN BIErEs b
X 4 T TS S SI6
Question ID : 691352691
Option 1 ID : 6913522764
Option 2 ID : 6913522762
Option 31D : 6913522761
Option 4 ID : 6913522763
Status : Not Answered
Chosen Option : --
Q5 =@ s fifer TEEE T ASTE ARG AT FERA? A2 AT A (@ GO weR aees
3 smmTE S FAT 77
Ans X" 1. 1921
X 21922
< 31920
v 4 1919
Question ID : 691352694
Option 1 ID : 6913522775
Option 2 ID : 6913522776
Option 3 ID : 6913522774
Option 4 ID : 6913522773
Status : Not Answered




045 50 CT@G 40m THBI 80 kg BET T(@ SW@ET FAF 57 515 Ted TEOA @1
(g=10m/s? )|
Ans X 1.3,200 Jis
< 2 600 Jis
v': 640 Jls
X 4800 Jis

Question ID : 691352662
Option 1 ID : 6913522645
Option 2 ID : 6913522647
Option 31D : 6913522646
Option 4 ID : 6913522648
Status : Answered
Chosen Option : 1

Q.5 Three solutions X, Y and Z have pH values of 2. 11and 7. respectively. Arrange them in their decreasing order of
5 hydrogen ion concentration.

Ans X1 Z Y. X
X2 XY, Z
v3iXZY
X4+YZX

Question ID : 691352659
Option 11D : 6913522634
Option 2 ID : 6913522633
Option 31D : 6913522636
Option 4 ID : 6913522635
Status : Answered
Chosen Option : 3

Q.5 The given pie chart shows information about Non-Performing Assets (NPA) processed by the various banks of India till
6  December 2017.

AT
b

c

D

B

If the total NPAs under all the banks are worth % 300 lakh crores, then NPAs worth how much (in ¥ lakh crores) does
Bank ‘A’ contain till December 2017?

Ans X 1110
v 2 90
X3 70
X 4 60

Question ID : 691352641

Option 11D : 6913522564
Option 2 ID : 6913522563
Option 31D : 6913522562
Option 41D : 6913522561




Status : Answered
Chosen Option : 2

Q.5 Name the actor who depicted the character of Bhallaladeva in the ‘Bahubali’ movie series?
7

Ans o 1. Rana Daggubati

/< 2. Prabhas
#< 3. Abhishek Bachchan
< 4 M. Nassar
Question ID : 691352685
Option 11D : 6913522738
Option 2 ID : 6913522737
Option 3 1D : 6913522739
Option 4 ID : 6913522740
Status : Not Answered
Chosen Option : --
Q.5
8
Ans ( 1.
X2
X 3
X
Question ID : 691352663
Option 11D : 6913522650
Option 2 ID : 6913522649
Option 31D : 6913522651
Option 4 ID : 6913522652
Status : Not Answered
Chosen Option : --
Q.5
9
Ans x 1.
v 2
X s
X a
Question ID : 691352677
Option 11D : 6913522707
Option 2 ID : 6913522708
Option 3 ID : 6913522706
Option 4 ID : 6913522705
Status : Answered
Chosen Option: 1
Q.6
0
Ans x 1.




X a
Question ID : 691352614
Option 11D : 6913522453
Option 2 ID : 6913522456
Option 3 ID : 6913522455
Option 4 ID : 6913522454
Status : Answered
Chosen Option : 3
Q.6
1
Ans x 1.
/< 2. The Home Minister of India
' 2 The Prime Minister of India
X a4
Question ID : 691352693
Option 11D : 6913522769
Option 2 ID : 6913522772
Option 3 ID : 6913522771
Option 4 ID : 6913522770
Status : Answered
Chosen Option : 3
Qéﬁ o 0 ag sef +Em, MY aF of 3, N ag e %0 3 AT P a7 of 2 3, e
1INSLEP2ZMIO a7 W& w7
Ans X190
X 2 85
X 3 80
Vv 4 81
Question ID : 691352637
Option 11D : 6913522548
Option 2 ID : 6913522547
Option 3 ID : 6913522545
Option 4 ID : 6913522546
Status : Answered
Chosen Option : 4
Qéﬁ 60kg ST JF(6 TEE 4m [AT Ao FAW© (F AT I THCH AT TH?
Ans1. 240 N
2. 60 N
3. 200 N
415 N
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352670
Option 11D : 6913522680




Option 2 ID : 6913522677

Option 31D : 6913522679

Option 4 ID : 6913522678
Status : Answered

Chosen Option : 1

Q° 3% sinA+sin?A=1, =@ Cos?A+ Cos*A 37 & T F7|

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

691352623

6913522491
6913522490
6913522492
6913522489

: Not Attempted and Marked For Review
Chosen Option :

5

‘What is the number of pyramids in the box?

Statements:

1. The box contains some yellow, red and blue-coloured pyramids.

Ans  of 1. Neither 1 nor 2 is sufficient.
/< 2. Only 1 is sufficient.

/< 3. Only 2 is sufficient.
/< 4. Either 1 or 2 is sufficient.

2. The box contains 6 yellow and 7 red-coloured pyramids and some blue-coloured pyramids.

Q.6 Read the given question and decide which of the following statements is/are sufficient to answer the question.

Question ID : 691352643
Option 11D : 6913522571
Option 2 ID : 6913522569
Option 31D : 6913522570
Option 4 ID : 6913522572
Status : Answered

Chosen Option : 4

Qé" Find the odd one out.




X2D
X3 A
X4 C

Question ID : 691352644
Option 11D : 6913522574
Option 2 ID : 6913522576
Option 3 1D : 6913522573
Option 4 ID : 6913522575
Status : Answered
Chosen Option : 1

Q.6 1kg WTF HTEe FNEA AT Fo, (TAW HEF 32% T FAR, 40% T GF 9 AMS6r fe?
7

Ans X1 280 g
X 2240 g
W3 320 g
X 4400 g

Question ID : 691352612
Option 11D : 6913522448
Option 2 ID : 6913522446
Option 31D : 6913522447
Option 4 ID : 6913522445
Status : Answered
Chosen Option : 1

L CeffrestEa TEeE o (FEE MPFeTE STEEE SE:
A) (Mald
B) e

C) 7«

Ans xm @
x:(H OO

v (Z)]'I'
SHCED

Question ID : 691352650

Option 11D : 6913522598
Option 2 ID : 6913522600
Option 3 ID : 6913522597




Option 4 ID : 6913522599
Status : Answered
Chosen Option : 3

% HwT CHie TETe WE BT T

2A,4G,8M,

Ans  of 1163

X 2 645
X 3. 16R
X 4 64R

Question ID : 691352638
Option 11D : 6913522551
Option 2 ID : 6913522550
Option 3 ID : 6913522552
Option 4 ID : 6913522549
Status : Answered
Chosen Option : 1

Ans

Y ST Tt E aWE aNE IPe GeEl @ a1

X
> 0O ® 0

Question ID : 691352646
Option 11D : 6913522583
Option 2 ID : 6913522584
Option 3 1D : 6913522582
Option 4 ID : 6913522581
Status : Answered
Chosen Option : 4

1

Ans

7

Q.7 3% w5 3G sem TEeEET S 95 Sae wht (WF 10cm R T 2 wE e AwT we




X 1.0.05
X 2 0.1
v 3 0.3
X 42

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 691352671

: 6913522684

1 6913522681

: 6913522683

: 6913522682

: Not Attempted and Marked For Review
Chosen Option :

Ans x1_ @li‘_
X 2 FEl
X 3 TP 97 ST

v i SrgE

U AR 2 T @ T T 96 e e S e ?

Question ID : 691352626
Option 1 ID : 6913522504
Option 2 ID : 6913522503
Option 3 ID : 6913522502
Option 4 ID : 6913522501
Status : Answered

Chosen Option : 4

3 (A= | & RE a9 @9 fF 34 F@ e

Ans x1~ "—Iﬁﬁ;;ﬁ
v 2 Baa Afew
X 3 Gfsge-sTiea
X+ Taa-Td

Q.7 smml Bes-qa o yy @ wiml Bl 450 a9few sBE B am ewem 1350 wfbs wnE AR

Question ID : 691352654

Option 11D : 6913522615
Option 2 ID : 6913522613
Option 31D : 6913522616
Option 4 1D : 6913522614
Status : Answered

Chosen Option : 1

U, ©E AT TRAG T TF FAE GO 16 TOE WER B T T@E?

Ans X118 =T A
v 2 12 0T TE

Q.7 off BT X 99 ¥ TUET 24 TH 99 32 TOME AF0G GIE Bfe FAGe A I SOT ART JHTE (T




X 315 5] AE
X 410 TBT TE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352617
6913522468
6913522465
6913522467
6913522466
Answered

2

% sooE graN WA ey wwa A 324 =R SEAECT ey 7
Ans of 1. 99792

X 299796

< 399790

X 499798

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

691352606
6913522423
6913522421
6913522424
6913522422
Answered

Chosen Option: 1

Y fwE @ G SIS Sfe TS ?
ans of 1. Cl
X235
X 3 Al
Xap

Question ID : 691352675
Option 11D : 6913522700
Option 2 ID : 6913522698
Option 31D : 6913522697
Option 4 ID : 6913522699
Status : Answered
Chosen Option : 1

°57 % PEARL (¥ QFBSM 391 (741 W, ®RE SUIT (F fFerE (i I1E?

Ans X1 TWJU
X 2 TVIV
v 3 TVJU
K4 TVIT

Question ID :
Option 11D :
Option 21D :
Option31D:

691352631

6913522524
6913522522
6913522523




Option 4 ID : 6913522521
Status : Answered
Chosen Option : 3

Ans X110 N
/X250 N

X325 N
v 415 N

0{37 10N 3 5N Gt 7 936 Taa THw 992 oF (q@ A7 o9, oS oA T (FAE @6 39 w0

Question ID : 691352658
Option 11D : 6913522630
Option 2 ID : 6913522632
Option 31D : 6913522631
Option 4 ID : 6913522629
Status : Answered

Chosen Option : 4

U Cefifie fE $IT ATems AmE?

Ans of 115
X216
X317
X 4 21

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 691352652

: 6913522605

: 6913522607

: 6913522608

: 6913522606

: Not Attempted and Marked For Review

Ans X 1. 2.7
X227
3 0.27
X 4 0.027

Q8 off AT & T 1.7281 TG AFC AN 6.4 W, TRE FH Ml F w0

Question ID : 691352605
Option 1 ID : 6913522417
Option 2 ID : 6913522419




Option 31D : 6913522418
Option 4 ID : 6913522420
Status : Answered
Chosen Option : 3
Q.8 What is the colour of the precipitate formed when carbon dioxide is passed through calcium hydroxide solution
1 sparingly?
Ans 1. Grey
< 2 Blue
X 3 Black
« 4 White
Question ID : 691352664
Option 11D : 6913522654
Option 2 ID : 6913522656
Option 3 ID : 6913522653
Option 4 ID : 6913522655
Status : Not Answered
Chosen Option : --
Q.8
2 %Iﬁ% 5% WA ], Z 2,735 9§ 4 9u(F4H Hh E
Ans of 1. F 547
X 2 F 543,50
X3 % 273,50
X 4. F 502.50
Question ID : 691352610
Option 11D : 6913522438
Option 2 ID : 6913522439
Option 3 ID : 6913522437
Option 4 ID : 6913522440
Status : Answered
Chosen Option : 1
oés Dentists use a concave mirror because the image formed is
Ans  of 1. virtual and enlarged
#< 2. real but inverted
X 3. virtual but diminished
/< 4 real and enlarged
Question ID : 691352673
Option 11D : 6913522690
Option 2 ID : 6913522691
Option 3 ID : 6913522692
Option 4 ID : 6913522689
Status : Answered

Chosen Option : 1

Q.8 s Prer Es (N FEST T5| o TUA o @Y A ST IT 2@, BEE S 959 BT w9 |




Ans x-]
X2
X3
g

.60 9%F 15 FuF
36 9%d, 9 9wF

A4 dad, 11 dRd
- 40 984, 10 98d

Question ID :

Option 1 ID
Option 2 ID

Option 4 ID

691352619

: 6913522476
: 6913522475
Option 31D :

6913522473

16913522474

Status : Answered
Chosen Option : 4

Q.8 : : X
. Potential energy is equal to:

Ans X' 1. Fs
« 2 mgh
/3 m(-gh
1
X 4 —mv?
2
Question ID : 691352661
Option 1 ID : 6913522644
Option 2 ID : 6913522642
Option 3 ID : 6913522641
Option 4 ID : 6913522643
Status : Answered
Chosen Option: 2
Qés ‘Cherial’, a Painting form recently seen in the news belongs to which Indian state?
Ans X 1. Andhra Pradesh
X 2. Karnataka
/< 3. Madhya Pradesh
« 4 Telangana
Question ID : 691352686
Option 1 ID : 6913522741
Option 2 ID : 6913522742
Option 31D : 6913522744
Option 4 ID : 6913522743
Status : Not Answered
Chosen Option : --
Q.8




saFel fbalod oo oIFE gfewfalo @m &, T4 SNt MN (@87 S99 T S|

M

2

A B C D
Ans x 1. B
v
X3 A
X 4D
Question ID : 691352655
Option 11D : 6913522618
Option 2 ID : 6913522619
Option 31D : 6913522617
Option 4 ID : 6913522620
Status : Answered
Chosen Option : 2
Q.8 4:5:6 TS, #1000, FATHFW SF, THA IR AR FO7 F09 A1 7, &7 I AR SFE AR
8 sy ey we?
Ans X1 F234.0
X 2 F150
X 3 3250
v 4 F133.33
Question ID : 691352609
Option 11D : 6913522433
Option 2 ID : 6913522436
Option 3 ID : 6913522434
Option 4 ID : 6913522435
Status : Answered
Chosen Option : 4
Q.8 a3l GM@TSI BAE AT B A WA G OF IF-5ART WA ART A O (F ©AG A GIATSIG &
TAME T C TRT A A7 feaad TuT @F| I G0 T AFm (4T T OF 24 ShE W aF0 A
(BT B A TG AR ¢ (F B 1 A I BRE AT (%I U6e F 6] A7
Ans of 1.30.4
X 2 30.6
< 3 30.2
X 4 28.4
Question ID : 691352620
Option 1 ID : 6913522479
Option 2 ID : 6913522480
Option 31D : 6913522478
Option 4 ID : 6913522477




Status : Answered
Chosen Option : 4

Y NI (aF @EE T aeE_ |
A X e g T AT TE I T

Vv 2 3N Y

X 3 grfFafee A&

X4 w7

Question ID : 691352674
Option 11D : 6913522696
Option 2 ID : 6913522693
Option 3 ID : 6913522695
Option 4 1D : 6913522694
Status : Answered
Chosen Option : 2

01-9 Fwew Fafea ¢ Tom Semsfie 5 g w7 ¢ 97 Afesf IFweem @@ Same) s
|

fafs:
o 99 SRGE T

o T (I TG

frama:
1. 78 SRR a3
2. 79 T2 =RfG

X sy e 2 SepTET 96|
X 2 (FF Rt ST $E
v 3 BN NeE 1 SEwET $E|
X 4 TP ERR SEprET FE|

Question ID : 691352629
Option 11D : 6913522513
Option 2 ID : 6913522516
Option 31D : 6913522515
Option 4 ID : 6913522514
Status : Answered
Chosen Option: 3

Qé9 2018 WIEH (37 AW AEA [oF [Sete| a0 M IF0W 36 O (Of6G AEE Selo (F7
Ans  of 1 AES TWG

X 2 7=l cE

X 3. e S




X 4 Ty SAfFAO SO

Question ID : 691352687
Option 11D : 6913522746
Option 2 ID : 6913522748
Option 31D : 6913522747
Option 4 ID : 6913522745
Status : Not Answered
Chosen Option : --

% TR ST Y (@ ey Sk ?
Ans  of 1. FETETT

X 2 Jag AT
X 3 Apam
X 4 MEEER

Question ID : 691352696
Option 11D : 6913522784
Option 2 1D : 6913522781
Option 31D : 6913522782
Option 4 ID : 6913522783
Status : Not Answered
Chosen Option : --

Q.9 Seven children, each with the same birthday, were born in seven consecutive years. The sum of the ages of the oldest
4 three children is 63 years. What is the sum of the ages, in years, of the youngest three?

Ans x-]_ 60
v 2 51
X 3 57
X 4 54

Question ID : 691352621
Option 1 ID : 6913522481
Option 2 ID : 6913522484
Option 31D : 6913522482
Option 4 ID : 6913522483
Status : Answered
Chosen Option : 2

Q.9 a3fs coby wEE e N wT oW TNTE FEE AW aweT e S S 2500, R qEE

Tl $1,500 AT BREW @B o 220001 FiE wie GREEE  9EStE omE TOFE SlESit (U]
e e TarESETT 1R (9F T 6 9N Fw?

a2
o 300
SRR T 200
@R @B 100

Ans X 1. 25,000
v 2 #1,50,000




& 3 15,000
< 4 F50,000

Question ID : 691352640
Option 11D : 6913522560
Option 2 ID : 6913522558
Option 3 ID : 6913522557
Option 4 ID : 6913522559
Status : Answered
Chosen Option : 2

Q.9 You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the
6 question.

Milka is the niece of Lalli. Based on the below statements, can we determine the present age of Lalli?
Statements:
1. Their mean age is 28.

2. Lalli was born in the year 1976.

Ans 5 1. Statements 1 and 2 together are sufficient.

& 2. Statement 1 alone is sufficient.
/< 3. Statement 1 and 2 together are not sufficient.

« . Statement 2 alone is sufficient.

Question ID : 691352642
Option 11D : 6913522568
Option 2 ID : 6913522565
Option 31D : 6913522567
Option 4 ID : 6913522566
Status : Answered
Chosen Option : 3

Qf Complete the number series by choosing the correct options.

1, 8,9, 64, . .49, 512, )
Ans  off 1. 25216, 81, 1000

X 2. 25,36, 81, 100

< 3.125, 36, 729, 100

X 4.125, 216, 729, 1000

Question ID : 691352639
Option 11D : 6913522554
Option 2 ID : 6913522555
Option 3 1D : 6913522553
Option 4 ID : 6913522556
Status : Marked For Review
Chosen Option : 4

Q.9 During energy generation when there is a lack of oxygen in our muscle cells, the 6-carbon molecule is converted into a
8 carbon molecule.




Ans (1_

X
- L W

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 691352678

: 6913522709

16913522711

: 6913522710

1 6913522712

: Not Attempted and Marked For Review
Chosen Option :

ST SRSl a1 TECR |

fre K a%wfr SweTET
V2 A

X3y o
X 4 Fftey

Q.9 wawed OB PIESFHSEETE A 9w (it FEE se¥ weww SEHGEE a9 (e seany @ SREe

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352700

6913522798

6913522800

6913522799

6913522797

Not Attempted and Marked For Review

ans of 1. 167
X 2 —102
X 3 258
X 4193

Q) 338+ (169+13+13)+ (85— 23 X 5) X (114+19) a9 S =

Question ID : 691352607
Option 11D : 6913522428
Option 2 ID : 6913522427
Option 31D : 6913522426
Option 4 ID : 6913522425
Status : Answered

Chosen Option : 1




